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3 - In the following reaction: TGN JelaT v
Na(g) T 205g) = 2NOyg) Nag) T 205(g) = 2NOy
aglasy gotattt (Kp) aes e
partial pressure: S A | do gacal
[N, =04 atm, O,=2atm,NO, =4 atm] | [N2=0-4atm«0,=2atm«
N02 =4 atm]

Calculate (K;) value using the following

A LS S¥Y alaall 9 -¢
oo (D) st st e Juass oS
S0 yaud!

4 - Show by chemical equations :
How to obtain iron (III) oxide from

siderite.

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead
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Write all the chemical equations | a_ &L Y alaed! amte ciSI
balanced including the conditions of Sl do g ph 4S5 g b ke

the reaction: .
Answer the following questions: PRGN A e e

1 - Choose to answer (a) or (b) () 91 (1) e Al ¥ o -
Write the scientific expression indicated | -3k ole g1l gelall ol cas)
by the following sentence: roliallgsh le Byl Gl Bagi Aelac (1)

(a) The process aims to identify the constituent m ;L‘::::j i;“:L:ﬁ 4::‘@)
elements of a substance and the percentage | 5...s ge Jlarild dice p3SLI1 !
of each element in it. S5y et | e glae
(b) The process to determine the
concentration of an acid solution by
knowing its volume which is required
to neutralize the base solution of

known volume and concentration.

2 - Explain : s i - Y
The lithtum battery is more preferable to |« o2 poietll dds plasicd Juasy

the mercury cell. G931

YoM YoAV Jo¥1 5ol - A | rall Aol Wie
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z).m‘a-°

5 - Explain :
ysB 3 Jol3aS el LS e puiiad

Manganese compounds are used as a
strong catalyst.

6 - Explain : s i =

Not possible to distinguish between 6’}9}“"“ Ol Jglona (s sl (S ¥
ammonium acetate and sodium chloride | **¥'# 5k psisadisansis Js ’|
siliasd

solutions using the chemical indicators. T

4] YA YoAV Jo¥1 5guldf - A pold Zclball Adead
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7 - Choose to answer (a) or (b) :
Show by chemical equations, how to

obtain:
(a) 1,2-Dibromoethane from ethyl

hydrogen sulphate.
(b) meta-Chloro nitrobenzene from

benzene.

() 91 (1) e Aol ¥ a3 -V
e S A headSH S el e
‘ole
Sl S (e Ol g 503 =2, 1 ()
R RVRPINWI IS {
R (08 (e 950 93988 -Lia ()

YA/ YAV J oW1 59t - das i polt Adialt Al
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8 - A mixture of calcium carbonate and sodium | Sl s g p gmeud 1S3 S5 58 (po daidin -A
sulphate, its mass is 1.5 g, neutralized with “34-:‘1‘\“/;’ pitp= 1.5 “-"“-"‘5 M-f?di
15 ml of 0.8 M hydrochloric acid. Calculate 08 L sl paes g 1O
. - dialt (B Oligy ,S deud Cows|
the carbonate percentage in the sample. [Ca=40,C=12,0=16]
[Ca=40,C=12,0=16]

9 - Show by chemical equations + A0 LeadSIH S¥ s laelly g -4
How to obtain iron (III) chloride from |&< (ID) s -‘:‘431451 oo o oS
iron (II) sulphate. D) sl oty s

YA/ YAV J oW1 5oddl - das i solt Adialt Ase s
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10 - Choose to answer (a) or (b) : () 91 (1) e Ayl ¥ pui -0
Write the scientific expression o Jidd! guelal) gllacael! IS
indicated by the following sentence: 8okl

. . . e (pe Ao yeS ABlal gl 2ot (1)
(a) Systems in which the electric energy 15ty skl Gl Shind gals
from external source is used through ASlal
a non-spontaneous oxidation- IS5 (e Bt eS Bl Lgie pi Aelail (o)
reduction reaction. kSl LA 1581 BT Jelas

(b) Systems produce electric energy
through reversible spontaneous

oxidation - reduction reaction.

11 - How to differentiate practically between | asat aas - Lulec jsad S -\ )

silver iodide and silver phosphate. fAsal Olawsdy

YA/ YAV J oW1 59t - das i polt Adialt Al
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12 - Write one use for each : 100 UST Tkm 1 g Lot it ST -\ ¥
First: Titanium dioxide P9 ST S <
: : < [EN (W Lol
Second: Zinc sulphide O LI S Ly

13 - Explain : s -\ ¥
Nitro compounds are used in the @ Rguaall g, idl ue OLS pa pusiud
SOl pmaiat ! delio

manufacture of explosives.

B YA YoAV Jo¥1 5guldf - A pold Zclball Adead
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14 - Ammonia solution its concentration |« 0.1 M o385 jalid Jgtome -\t

0.1 Mand Kp =4 x 10° The pH value is: | ¢33 4= (Kp) aeid cils 342
A o g ygh @B 0 oLa  4x10

15 - Explain : syl -0
Iron (IIT) oxide could be obtained when O wie (I11) gt s 05 43
iron (II) oxalate is heated. D gt ovtus sl

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead 9|
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16 - Choose to answer (a) or (b) () 91 (1) e Al ¥ 5 -\ 1
Explain a practical experiment to Eidgilt aos dlas dosend -
x&Y.\Lﬂ-&n—)

show: (Write the chemical equation).

(a) The effect of temperature on the rate
of equilibrium reactions.

(b) The effect of concentration on the
rate of reactions.

O e Byl Ay 551 (1)
Jelaid! Juae le 5uS,301 ,50 ()

i YA YoAV Jo¥1 5guldf - A pold Zclball Adead
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17 - A sample of soda ash crystals, et 13 g O 39l (gt A =\ V
Na,CO;.X H,0, its mass is 1.43 g, 1:43 ffmswl\}a{co}; x HyO
heated until constant mass of 0.53 g, | ¥ & &= ““’;"“ ‘%’5"3
Calculate the number of moles of water . L e

. . A e le O 90 Mo s |
of crystallization. [C=12,0=16,H=1,Na=23]
[C=12,0=16,H=1,Na=23]

18 - Show by chemical equations : 1 A0 LeasSH O s laet b uidg - VA
How to obtain cyclohexane from normal | obse!! e gl Slusell e Juami i
hexane. Tgalal

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead
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19 - Choose to answer (a) or (b) :

Write the scientific expression

indicated by the following sentence:

(a) The process of increasing the
percentage of iron in the ore by
separation the impurities from it.

(b) The process of collecting fine
particles of iron ores to obtain large
particles suitable for reduction
process.

() 91 (1) (e Al M1 i -4

e JIad elalt mllaaal) S

13 ylat!

R EL (s UVNER [ IR S NI WOV ()
e CA1gld) Juad Gyl

i e e K C))
A5 St ST Ol (485 picaal

20 - Choose to answer (a) or (b) :

Explain:

(a) Markowinkoft’s rule is not applied
for all alkenes when hydrogen
bromide is added to them.

(b) The colour of acidified potassium
permanganate does not disappear
when it is added to 2-methyl-2-
propanol.

1(22) 91 (1) (e Al M1 T - Y
2)-“‘3
e By igS le bueld Gulati ¥ (1)
h\._f.njﬁﬂ\_‘.a!..\_..cb\_%ﬂsﬂw
O g -l
A 9maal g Slimmiicn 5 093 J 952 ¥ ()
J9bigp-2-iea-2

YA/ YAV J oW1 59ddl - das i polt dAdialt Al
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21 - Choose to answer (a) or (b) :
Explain by chemical equation:
(a) Thereaction happened when charging
the lead accumulator.
(b) The total equation of the cell of iron

rust.

z(g)}i ) O Al i =Y
P RO LS A alaat s sy
PUSON PSR IEPRON I [ PN -52 (1 ()]
oo 11
NUERUN (NN WES P {JPY P () ()

22 - Find the salt name:
Salt solution forming white precipitate
with the addition of barium chloride
solution, which dissolved in dilute
hydrochloric acid. And addition of
ammonium carbonate solution to the
original salt solution forming also white
precipitate.

s ebedt @t it =YY
oIS Jalons BLs) e e Jglons
B L9l LAl el S 4d! pga Ll
NEPPINE-F-E N (IR L PENWPA { JRe-P N
Jolons (12 510 90 W1 01l 53,8 J gloms B L)
Lt el couly (398 gelel | puis

YA/ YAV J oW1 59t - das i polt Adialt Al



T/ YA ol 58 plai - 5931 590t - (A 5uelady 1 AR ) o LeassSH - Aalal) 2 g3 Aot 5ol ALEHY B3lgs (ylomhal

23 - In the balanced chemical reaction: 1O pkedt Jolait 8 -YY
PCls(g) = PClyg) + Cly) ; AH = (+) PCly gy = PCly ) +Cly g AH - (9
The dissociation of phosphorus Ho)9lS alde Mo Bl (e
pentachloride can increase by: PO (a sptusdll

@ Decreasing temperature. Byl ) A g3 i @
@ Decreasing pressure. daidall yadd @
@ Increase the addition of chlorine. 39ISI (po o el | KoL @

@ Addition of a catalyst. Slas Jale 28l

24 - What happen and explain: b ) g Cotey 300 - Y €

If replaced the sodium sulphate solution | ¢® pssal! SlaxsS Joloe Jusiul B3]

in the salt bridge by barium chloride |0 =28 Jsimer Gemiell 3yha

.. . Sl Ads L8
solution in Daniel cell?
25 - Show by chemical equations : 1 A0 LeaSI O s laetly g - YO
How to obtain picric acid from 293 (p0 S HS e (e Jua oS
chlorobenzene. o

14 YoM YoAV Jo¥1 5ol - A | rall Aol Wie
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26 - Write the IUPAC nomenclature: 1T 98 A LA s (3 ST @ | ST - Y
CH3-CH-CH2-?H-CH3

® @ Br
CH,-C=C-CH-CH, s

® |

CHACH,

27 - You have a piece of tissue, how can | codl s ((Sleat (e dalad Elyus - YV
you prove experimentally the carbon | i s-4689 052550 § aie o Liles
and hydrogen elements are existed in | & foiledl) cS 2 (IS
its structure, illustrate with chemical - 40LteST) O alaally s g
reactions.

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead
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28 - Choose to answer (a) or (b) : () 91 (1) oo Al WI ;33 -YA
Show how to obtain industrially: role deliall o8 duaxd &S sy
(without chemical equations) (Aibas S¥alas 08 05

Ogalatt (1)
E,:Lua.”ua.h.ud‘(u)

(a) Soap
(b) Industrial detergents.

29 - Write the structural formula and IUPAC | &Lsa¥ aliais bt a1 GS1-Y4

nomenclature of halothane SOt el AALLD Aduall

30 - In the opposite figure : s JalRel| JSAN B -+
The (K¢) value is : (Ke) e

@ Greater than One. \\ ARV
Reactants

(® Equal one. Sleliis

gt (g gluds

Concentration
S

OO®OO

Products -
@ Less than one i (g8 (e JB]
Equal zero. Ay L

@ qual zero o time oo S 9

H

YA/ YAV J oW1 59ddl - das i polt dAdialt Al
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31 - A galvanic cell, its potential is 0.34 volt, | aissecds20.34 baga aolals ads -1
is formed from copper electrode with |-l cdad ge (uloidl cclad (e
standard hydrogen electrode. If the cell | ¢~ e¥! 511 018 1318 -l

diagram is: e

Pt-H, / 2H™ // Cu®" / Cu° PtH,,2H"/,Cu®"/Cu’
Calculate the oxidation potential of el ST g o
copper.

32 - A cation that gives a white green | o<ani Lty olaay GO -G ISI Y'Y
precipitate by the addition of sodium | “Sa4s Jsloe A8La1 e | s
hydroxide to its solution is: 198 Alslone L pgasall

@ Fe?" Fe2t @
@ Fe* Fe3* @
@ Cu®" Cu* @
@ AP* AP O

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead
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33 - Complete the table :

1 J 9t JaSi -YY

Type of alloy
Al g9

Its components
(¢! AigSall puoliall

Aluminum-Nickel
IS g p gun 911

interstitial alloy

P

34 - Choose to answer (a) or (b)
Show by chemical equations:
How to obtain :
(a) Aspirine from ethanal
(b) Marookh oil from chloromethane

1(22) 91 (1) (e Aala W1 i - Y
a8 AoleSI DYoLl s
s ole Juasd
-JBLN (e (¥ (1)
Olies 95948 (y0 F9 madl iy (@)

) YA/ YAV J oW1 5oddl - das i solt Adialt Ase s
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35 - In the opposite figure, a process in M2 AEE Adac pidas Jalaelt YK -0
purifying copper metal : Caband
First : what happens in the ] ¥

) S(A) Claill s 1l
electrode (A). Write the it oot (521 Jo i S o

chemical equation. Lats

Second: what happens to the Wnall L gt o 3L
impure sliver at the SRyl el lad B

\ =

impure copper electrode.Explain.

36 - What is meant by the solubility product? | = 225¥1 Joloy 35waielt Le-¥1

Then, calculate (Ksp) for barium Glaugd Jotonad (KSP) it
phosphate solution, Ba,(PO,), , where its ol Lale B_§3(PO4)2 py—yld!
degree of solubility is 1x10~ M. - DO Mitgr aimy ae)s

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead
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37 - Choose to answer (a) or (b) : () 91 (1) oo Al Wi jn3 YV
Write the scientific expression e Jidd) melall pllaaddt oS!
indicated the following sentence: 1okl

) .| et giwel! e SLu alias (1)
(a) Apparently a stationary system but in el s g5l e Ssalinas

reality dynamic. A0y el Byl pond) A 3 Srg8 i ()
(b) At constant temperature, the S5 i ol pe Lis ylo Je it
rate of a chemical reaction is -0 e Latet!

directly proportional to the result
of multiplication of the reactant

concentrations.
38 - Choose to answer (a) or (b) : () 91 (1) He Al ¥ 53 -YA
Show by chemical equation: 140 kesH Aslaelly mdy

8IS Ja b Jelas (1)

(a) Friedel Craft’s reaction
b delas (0)

(b) Baeyr’s reaction

20 YoM YoAV Jo¥1 5ol - A | rall Aol Wie
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39 - Choose to answer (a) or (b) :

What is the effect of heat on:
a- Methane.
b- Octane.

1(@) 9t (1) e Al puind -¥4
1ole 3yt )30 Le
bt (1)
LS ¥ (2)

40 - Choose to answer (a) or (b) :

All the following compounds are
coloured and paramagnetic except:

@ FeCl,
® cCucCl,
© scCly
@ CoCl,

1 dovouall Al W Ji5 ) -8

Dlagagle AtiN OLS ool pian
:ldele b liao

FeCl, O
cuCl, ©
ScCl, @
coCl, (®

41 - Write the name of the electrolyte in the | 2 pasiuat) Cod g SSIW @wl TSH - ¢
fuel cell, Write the chemical reaction | Jelad! Walas LS ae 258501 A

at the cathode.

L3991 e Soa bt

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead 21
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42 - Explain: sy - £ Y
Hydrochloric acid is used to detect the | a5t ool paes pusiuw

sulphite ion and is not used to detect the | **** ¥ “““*i‘:z-"‘vi s A
sulphate 1on. Ol I g0l (e aasU

43 - The product of the reaction of ethyl | Léu¥iJsostt Jelalmzilbadg -ty
alcohol with concentrated sulphuric acid | 34& cle 3S ¥ S st olﬂ*'&‘
depends on the number of the alcohol i _dsxsliotiaje

SAOLe ST O ladt Ly S s g
molecules.

Explain with chemical reactions.

22 YA YoAV Jo¥1 5guldf - A pold Zclball Adead
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44 - A current of 15 amperes passed for | el 15 aiai 68 JLS 510t die £ £
50 minutes in a solution of divalent 4;-“-‘-’4-“‘531’“9-“‘-1‘3-’ 5034
metal cation. The mass of the cathode | 2“2 25" 4Ls "’"" "';‘S;g

increased by 9.35 g. Calculate the Lat ae,;m:u;: . ° \

atomic mass of the metal.

45 - A compound (A) has molecular P A0 o) o (A) S pe -£0

formula
COOCH, @- COOCH,

Show with chemical equations:

First : The effect of addition NaOH to + A LauSH O¥ slaal Ly uidg
29531 i Yl (g sLaad! et 81 s Lals

Second: The effect of the ammonolysis of
an ester considered an isomer to
compound (A).

(A) o pelt

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead 23





